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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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Select the odd figure out of the given series.
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Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.
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If the letters in the word ‘UNIVERSAL’ are arranged in the alphabetic order and each
letter in the order is assigned a numerical value of 1, 2, 3... according to their position
from the left, then the sum of the numerical values of the position of the consonants will
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The angle of elevation of the top of a hill at the foot of the tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50m high,
what is the height of the hill?
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The given chart represents the sales of different companies in the year 1999 and 1998.

If the total sales in 1998 was 7890, which increased by 16.5% in 1999,
then the total sales in the year 1999 is approximately :
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Sales of Bikes in India as per the Colour in
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Based on the given data, determine the bikes of which colours will make a total sales of 55%?



#< 1 Brown, black, blue and golden
1, arel, eer 3R Geagdr

/<, Brown, black, red and golden

+ 3 Blue, green, gold, black and red
g1, Tord, el 3R e
/< 4 Green, silver, blue and red
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Which of the following causes damage to bridges, iron railings and all objects made of

metals?
ST
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9T BT (Rancidity)
X, Rancidity
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According to the given Venn diagram, the total number of students who play cricket as
well as football and also all the 3 games 1s:
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Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.
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Sub
w 70 a0 20 85
X 55 80 95 &0
Y 60 20 a0 40
Z 20 80 40 b3

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

The average marks of the four students in P and C together (round to one decimal) is:
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